

(Dedicated to the memory of Professor K. L. Singh)

A PARTICULAR ASYMPTOTIC BEHAVIOUR OF THE ZEROS OF σ - ORTHOGONAL POLYNOMIALS

By

A. Morelli and I. Verna

*(Dipartimento di Metodi e Modelli Matematici per le Scienze Applicate,
Università "La Sapienza", via A. Scarpa 10, 00100 Roma, Italy)*

(Received: March 25, 1992)

ABSTRACT

We study the asymptotic behaviour of the unique solution $(t_1^{(m)}, \dots, t_m^{(m)})$ of the system

$$\int_{-1}^1 p(x) x^k \prod_{i=1}^m (x-t_i)^{2s_i+t} dx \quad (k=0, 1, \dots, m-1),$$

satisfying the condition $-1 < t_1^{(m)} < t_2^{(m)} < \dots < t_m^{(m)} < 1$ for every fixed $m \in \mathbb{N}$, when only one of the integers s_i tends to infinity.

1. INTRODUCTION. In this paper we are concerned with the asymptotic behaviour of the unique solution $(t_1^{(m)}, \dots, t_2^{(m)}, \dots, t_m^{(m)})$ of the system

$$(1.1) \quad \int_{-1}^1 p(x) x^k \prod_{i=1}^m (x-t_i)^{2s_i+1} dx = 0, \quad (k=0, 1, \dots, m-1),$$

satisfying the condition

$$(1.2) \quad -1 < t_1^{(m)} < t_2^{(m)} < \dots < t_m^{(m)} < 1.$$

The system (1.1) arises when we consider a generalization of Turan quadrature formula i. e. a quadrature formula with nodes having arbitrary multiplicity:

$$(1.3) \quad \int_{-1}^1 p(x) f(x) dx = \sum_{i=1}^m \sum_{k=0}^{2s_i} A_{ik} f^{(k)}(x_i) + R[f]$$

where $p(x) \in L[-1,1]$, $p(x) > 0$ i. e. in $[-1,1]$, m is an arbitrary positive integer, s_1, s_2, \dots, s_m are the first m terms of a sequence σ of nonnegative integers.

If we assume $-1 < x_1 < x_2 < \dots < x_m < 1$ the quadrature formula

(1.3) attains the maximum degree of accuracy $n=2 \left(\sum_{i=1}^m s_i + m \right)$ (It

means that $R[f] = 0$ when f is an arbitrary polynomial of degree $\leq n-1$) if and only if (x_1, x_2, \dots, x_m) is the unique solution of the system (1.1), i. e. $x_i = t_i^{(m)}$, $(i = 1, 2, \dots, m)$.

The system (1.1) defines a sequence of polynomials

$P_{\sigma, m}(x) = \prod_{i=1}^m (x - t_i^{(m)})$ called σ -orthogonal polynomials (Ghizzetti-

Ossicini [2]).

In this paper we are concerned with asymptotic behaviour of the solution of (1.1) when only one of the integers s_i goes to infinity.

The following results are obtained:

$$(1.4) \quad m \in \mathbb{N}, \quad \lim_{s_1 \rightarrow \infty} t_1^{(m)} = 0; \quad (\text{This result was proved in [9]})$$

$$(1.5) \quad m \geq 2, \quad \lim_{s_i \rightarrow \infty} t_i^{(m)} = 1 \quad (i=2, 3, \dots, m),$$

$$\lim_{s_m \rightarrow \infty} t_m^{(m)} = 0,$$

$$\lim_{s_m \rightarrow \infty} t_j^{(m)} = -1 \quad (j=1, 2, \dots, m-1),$$

$$(1.6) \quad m \geq 3 \quad \lim_{s_j \rightarrow \infty} t_j^{(m)} = 0 \quad (j=2, 3, \dots, m-1)$$

$$\lim_{s_j \rightarrow \infty} t_i^{(m)} = -1 \quad (i=1, 2, \dots, j-1)$$

$$\lim_{s_j \rightarrow \infty} t_k^{(m)} = 1 \quad (k=j+1, j+2, \dots, m).$$

2. Case, when $s_2 = s_3 = \dots = s_m = 0$.

In the case $s_2 = s_3 = \dots = s_m = 0$ the system (1.1) is equivalent to

$$(2.1) \left\{ \begin{aligned} & \int_{-1}^1 p(x) (x-t)^{2s} \prod_{i=1}^m (x-t_i) dx = 0, \\ & \int_{-1}^1 p(x) (x-t_1)^{2s} \prod_{i=1}^m (x-t_i) \prod_{h=m-k}^m (x-t_h) dx = 0, (k=0, 1, \dots, m-2), \end{aligned} \right.$$

with $s = s_1$.

The equation of (2.1) corresponding to $k=m-3$ (For $m=2$ the first equation of (2.1) must be considered) can be written as

$$(2.2) \int_{-1}^1 p_m(x,s) (x-t_1)^{2s+1} (x-t_2) dx = 0,$$

where $p_m(x,s) = p(x) \prod_{i=3}^m (x-t_i)^2$.

We observe that condition $-1 < t_i < 1, (i=3,4, \dots, m)$, implies $0 \leq p_m(x,s) \leq 2^{2(m-2)} p(x)$ uniformly for $x \in [-1,1]$.

It follows

$$(2.3) \int_{-1}^1 p_m(x,s) (x-t_1^{(m)})^{2s+2} dx + \left(t_1^{(m)} - t_2^{(m)} \right) \int_{-1}^1 p_m(x,s) (x-t_1^{(m)})^{2s+1} dx = 0$$

which implies $\int_{-1}^1 p_m(x,s) (x-t_1^{(m)})^{2s+1} dx > 0$, because $t_1^{(m)} < t_2^{(m)}$.

Now we state:

Theorem I $\lim_{s \rightarrow \infty} t_i^{(m)} = 1, i=2,3, \dots, m$

Proof. Let us first prove $\lim_{s \rightarrow \infty} t_2^{(m)} = 1$.

From (2.3) we have

$$(2.4) \quad t_2^{(m)} - t_1^{(m)} = \frac{\int_{-1}^1 p_m(x,s) (x-t_1^{(m)})^{2s+2} dx}{\int_{-1}^1 p_m(x,s) (x-t_1^{(m)})^{2s+1} dx} > \frac{\int_{t_1^{(m)}}^1 p_m(x,s) (x-t_1^{(m)})^{2s+2} dx}{\int_{t_1^{(m)}}^1 p_m(x,s) (x-t_1^{(m)})^{2s+1} dx}$$

Hölder's inequality gives

$$(2.5) \quad \int_{t_1^{(m)}}^1 p_m(x,s) (x-t_1^{(m)})^{2s+1} dx \leq \left(\int_{t_1^{(m)}}^1 p_m(x,s) (x-t_1^{(m)})^{2s+2} dx \right)^{(2s+1)/(2s+2)} \cdot \left(\int_{t_1^{(m)}}^1 p_m(x,s) dx \right)^{1/(2s+2)}$$

Hence

$$(2.6) \quad t_2^{(m)} - t_1^{(m)} > \frac{\left(\int_{t_1^{(m)}}^1 p_m(x,s) (x-t_1^{(m)})^{2s+2} dx \right)^{1/(2s+2)}}{\left(\int_{t_1^{(m)}}^1 p_m(x,s) dx \right)^{1/(2s+2)}}$$

It is obvious $\lim_{s \rightarrow \infty} \left(\int_{t_1^{(m)}}^1 p_m(x,s) dx \right)^{1/(2s+2)} = 1$.

Now we must show

$$(2.7) \quad \lim_{s \rightarrow \infty} \left(\int_{t_1^{(m)}}^1 p_m(x,s) (x-t_1^{(m)})^{2s+2} dx \right)^{1/(2s+2)} = 1$$

We remark: i) $\forall x \in [t_1^{(m)}, 1] \Rightarrow x-t_1^{(m)} \leq 1-t_1^{(m)}$; ii) since

$\lim_{s \rightarrow \infty} (1-t_1^{(m)})^{2s+2} = 0$, for every $\epsilon > 0$ there exists $s_\epsilon \in \mathbb{N}$ such that for

every $s > s_\epsilon (s \in \mathbb{N})$, $|t_1^{(m)}| \leq \frac{\epsilon}{2}$ holds.

Then, for $s > s_{\epsilon 9}$

$$\left(\int_{t_1^{(m)}}^1 p_m(x, s) (x - t_1^{(m)})^{1/(2s+2)} dx \right)^{1/(2s+2)} > \left(\int_{1-\epsilon/2}^1 p_m(x, s) (x - t_1^{(m)})^{2s+2} dx \right)^{1/(2s+2)} \geq \\ \geq (1-\epsilon/2 - t_1^{(m)}) \left(\int_{1-\epsilon/2}^1 p_m(x, s) dx \right)^{1/(2s+2)} > (1-\epsilon) \left(\int_{1-\epsilon/2}^1 p_m(x, s) dx \right)^{1/(2s+2)}.$$

Hence

$$(2.8) \quad 1-\epsilon < \lim'_{s \rightarrow \infty} (t_2^{(m)} - t_1^{(m)}) = \lim'_{s \rightarrow \infty} t_2^{(m)} \leq \lim''_{s \rightarrow \infty} t_2^{(m)} \leq 1,$$

then

$$(2.9) \quad \lim_{s \rightarrow \infty} t_2^{(m)} = 1 \quad \forall m \in N, m \geq 2$$

Because of $-1 < t_1^{(m)} < \dots < t_m^{(m)} < 1, \forall s \in N$, and (2.9) theorem **I** is proved.

3. General case.

The system (1.1) is equivalent to

$$\left\{ \begin{array}{l} \int_{-1}^1 p(x) \prod_{i=1}^m (x - t_i)^{2s_i+1} dx = 0 \\ \int_{-1}^1 p(x) \prod_{i=1}^m (x - t_i)^{2s_i+1} \prod_{h=m-h}^m (x - t_h) dx = 0 \quad (k=0, 1, \dots, m-2). \end{array} \right.$$

If $m=2$ the first equation of (3.1) has to be considered and

$$P_2^* (x, s_1) = P(x) (x - t_2)^{2s_2+2}.$$

Therefore the equation of (3.1) corresponding to $k=m-3$ can be written as

$$\int_{-1}^1 P_m^* (x, s_1) (x - t_1)^{2s_1+1} (x - t_2) dx = 0,$$

where $p_m^*(x, s_1) = p(x) (x-t_2)^{2s_2} \prod_{i=3}^m (x-t_i)^{2s_i+2}$.

We observe that condition $-1 \leq t_i < 1$, ($i=2,3,\dots,m$), implies

$$0 \leq p_m^*(x, s_1) \leq 2^H p(x), \text{ where } H = 2 \left(\sum_{i=2}^m s_i + m - 2 \right)$$

uniformly for $x \in [-1,1]$.

We first state

Theorem II $\lim_{s_1 \rightarrow \infty} t_i^{(m)} = 1$, ($i=2, 3, \dots, m$).

The proof is the same as that of Theorem I.

Now we can prove

Theorem III $\lim_{s_1 \rightarrow \infty} t_m^{(m)} = 0$; $\lim_{s_1 \rightarrow \infty} t_i^{(m)} = -1$, ($i=1,2,\dots,m-1$)

Proof: Let us write (1.1) in this way

$$\int_{-1}^1 p(-x) x^k \prod_{i=1}^m (x+t_i)^{2s_i+1} dx = 0, (k=0,1,\dots,m-1).$$

This system has unique solution

$(-t_m^{(m)}, -t_{m-1}^{(m)}, \dots, -t_1^{(m)})$ with

$-1 \leq -t_m^{(m)} < -t_{m-1}^{(m)} < \dots < -t_1^{(m)} < 1$, which verifies,

because of Theorem II, $\lim_{s_1 \rightarrow \infty} (-t_m^{(m)}) = 0$, $\lim_{s_1 \rightarrow \infty} (-t_i^{(m)}) = 1$,

($i=1,2,\dots,m-1$), then Theorem III is proved.

Let us consider $m \geq 3$. When $s_j \rightarrow \infty$, ($2 \leq j \leq m-1$), and s_i are fixed ($i=1,2,\dots,m$; $i \neq j$), we state

Theorem IV $\lim_{s_j \rightarrow \infty} t_i^{(m)} = 0$.

Proof. We shall show

$$\lim_{s_j \rightarrow \infty} t_j^{(m)} = \lim_{s_j \rightarrow \infty} t_j^{(m)} = 0, \quad 2 \leq j \leq m-1.$$

If $\lim_{s_j \rightarrow \infty} t_j^{(m)} = T_j > 0$, there would be a subsequence $\{t_{j, \nu_h}^{(m)}\}$ converging to T_j , then $t_{j, \nu_h}^{(m)} > 0$ definitely.

The last equation of (3.1) can be replaced by

$$(3.2) \quad \int_{-1}^1 p(x) \prod_{\substack{i=1 \\ i \neq j}}^m (x-t_i)^{2s_i+2} (x-t_j)^{2s_j+1} dx = 0.$$

Consider the sequence $(t_{1, \nu_h}^{(m)}, t_{2, \nu_h}^{(m)}, \dots, t_{m, \nu_h}^{(m)})$, $(h=1, 2, \dots)$; let

$$\bar{P}_m(x, s_j) = p(x) \prod_{\substack{i=1 \\ i \neq j}}^m (x-t_{i, \nu_h}^{(m)})^{2s_i+2},$$

$$0 \leq \bar{P}_m(x, s_j) \leq 2^L p(x) \text{ where } L = 2 \left(\sum_{i=1}^m s_i + m-1 \right),$$

$\forall x \in [-1, 1]$ uniformly.

From (3.2) we have

$$\begin{aligned} 0 = & \int_{-1}^{-1 + \frac{1}{2} t_{j, \nu_h}^{(m)}} \bar{P}_m(x, s_j) (x-t_{j, \nu_h}^{(m)})^{2\nu_h+1} dx + \int_{-1 + \frac{1}{2} t_{j, \nu_h}^{(m)}}^{t_{j, \nu_h}^{(m)}} \bar{P}_m(x, s_j) (x-t_{j, \nu_h}^{(m)})^{2\nu_h+1} dx + \\ & + \int_{t_{j, \nu_h}^{(m)}}^1 \bar{P}_m(x, s_j) (x-t_{j, \nu_h}^{(m)})^{2\nu_h+1} dx. \end{aligned}$$

When $h \rightarrow \infty$, the first integral $\rightarrow -\infty$, the second one is negative, the third one is bounded. Hence $T_j \leq 0$.

By the same method $\lim' t_j^{(m)} \geq 0$ can be proved; then theorem IV is proved.

Finally we can prove

Theorem V (i) $\lim_{s_j \rightarrow \infty} t_i^{(m)} = -1, (i=1,2,\dots,j-1);$

(ii) $\lim_{s_j \rightarrow \infty} t_k^{(m)} = 1, (k=j+1, j+2,\dots,m).$

Proof. The system (1.1) can be written

$$\left\{ \begin{aligned} & \int_{-1}^1 p(x) \prod_{i=1}^m (x-t_i)^{2s_i+1} dx = 0 \\ & \int_{-1}^1 p(x) \prod_{i=1}^m (x-t_i)^{2s_i+1} \prod_{h=1}^k (x-t_h) dx = 0 \quad (k=1,2,\dots,j-1), \\ & \int_{-1}^1 p(x) \prod_{i=1}^m (x-t_i)^{2s_i+1} \prod_{h=1}^{j-1} (x-t_h) \prod_{l=m-r}^m (x-t_l) dx = 0 \\ & \quad (r = 0,1,\dots,m-j-1). \end{aligned} \right.$$

Let us write the equation corresponding to $r=m-j-2$ in the form:

$$\int_{-1}^1 P_m(x, s_j) (x-t_j)^{2s_j+1} (x-t_{j+1}) dx = 0,$$

where $P_m(x, s_j) = \frac{p(x)}{(x-t_{j+1})^2} \prod_{\substack{i=1 \\ i \neq j}}^m (x-t_i)^{2s_i+2}$

Because of Theorem II $\lim_{s_j \rightarrow \infty} t_{j+1}^{(m)} = 1$, hence (ii) follows from (1.2).

By the same method and because of Theorem III, (i) can be proved.

REFERENCES

- [1] Gautschi, W., A survey of Gauss-Christoffel quadrature formulae. In: Christoffel, E. B.: The Influence of his work on Mathematics and Physical Sciences, Butzer, P. L., Fehér, F. (eds.), Birkhäuser, Basel, (1981). 72-147.
- [2] Ghizzetti, A. and Ossicini, A., Sull' esistenza e unicità delle formule di quadratura gaussiane. *Rend. Mat.* (VI) 8, (1975), 1-15.
- [3] Ghizzetti, A., Sistemi Biortonormali collegati alle formule di quadratura gaussiane. *Pubbl. Ist. Mat. Appl. n. 169*, Quaderno n. 8, (1976), 3-14 *Ist. Mat. Appl. Università La Sapienza Roma.*
- [4] Gori, L. and Lo Cascio, L., Milovanovic, G. V., The σ - Orthogonal polynomials: a method of construction. In: Orthogonal Polynomials and their applications, Brezinski, C., Gori, L. and Ronveaux A. (eds.) IMACS, (1991), 281-285.
- [5] Guerra, S., Su un determinante collegato ad un sistema di polinomi ortogonali. *Rend. Ist. Mat. Univ. Trieste*, 10 (1978), 66-79
- [6] Guerra, S. and Giannuzzi, G., Sistemi sub-ortogonali e sviluppi in serie ad essi collegati. *Bol. Un. Mat. Ital.* 17-B (5) (1980), 1256-1268.
- [7] Micchelli, C. A. and Sharma, A., On a problem of Turan: multiple node Gaussian quadrature. *Rend. Mat.* (VII) 2 (1982), 529-552.
- [8] Morelli, A. and Verna, I., Alcune proprietà degli zeri dei polinomi σ - ortogonali. *Rend. Mat.* (VII) 7 (1987), 43-52.
- [9] Morelli, A. and Verna, I., Alcune osservazioni sul comportamento asintotico degli zeri di particolari successioni di polinomi σ - ortogonali, *Rend. Mat.* (VII) 11 (1991), 417-424

- [10] Popoviciu, T., Sur une generalisation de la formule d' integration numerique de Gauss, *Acad. R. I. Romine Fil Iasi Stud. Cerc. St.* **6** (1955), 29-57.
- [11] Stancu, D. D., Sur quelques formules generales de quadrature du type Gauss-Christoffel. *Mathematica (Cluj)* **1** (24) (1959), 167-182.
- [12] Stroud, A. H. and Stancu, D. D., Quadrature formulas with multiple Gaussian nodes, *J. SIAM, Ser. B. Numer. Anal.* **2** (1965), 129-143.
- [13] Turan, P., On the theory of the mechanical quadrature *Acta Sci. Math.* (Szeged) **12** (1950), 30-37.